
Year 1: Subtract by counting back (not crossing 10) 22/1/21 

CHALLENGE QUESTIONS 

 

    

  
 

Tom has been saving for a new book to read. He has saved £16 and his books 

costs £9. He says he will have £8 left. Do you agree? Can you show what you 

are thinking on the numberline. 

     

 

 

 

 

Sarah sometimes finds it tricky to count back so she 

uses a numberline to help her. These are the questions 

she has answered in maths today. Can you use your 

numberline to check her answers and tick if they are 

right and give her the right answer if they are wrong? 

 

15 – 6 = 8                       12 – 8 = 4               13 – 4 = 8 

12 – 7 = 6                        18 – 9 = 9               16 – 7 = 8 

 

 



  


